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Directions (1-5): Each of the following questions below consists of a question and two statements 
numbered I and II given below it. You have to decide whether the data provided in the statements 
are sufficient to answer the question. Read both the statements and give answer. 
(a) if the data in statement I alone are sufficient to answer the question, while the data in statement II alone 
are not sufficient in answer the question. 
(b) if the data in statement II alone are sufficient to answer the question, while the data in statement I alone 
are not sufficient to answer the question. 
(c) if the data in either in statement I alone or in statement II alone are sufficient to answer the question. 
(d) if the data in both the statements I and II together are not sufficient to answer the question. 
(e) if the data in both the statements I and II are together necessary to answer the question. 
 
Q1. What does ‘ra’ mean in the code language?  
I. ‘st qm ra’ means ‘Look at me’ and ‘qm ms st rt’ means ‘don’t look at him’ in that code language. 
II. ‘ka tv ne ra’ means ‘take me and go’ and ‘vw wx si ra’ means ‘either me or you’ in that code language. 
 
Q2. How is Sarita related to Rajesh? 
I. Soni, the cousin of Rajesh, is the niece of Sarita. 
II. Swarna is sister of Sarita who is the wife of Om. Om is the father of Rajesh. 
 
Q3. What is M’s rank in the class of 40? 
I. S, who is 9th from the top in the class is above R by 12 ranks who is below M by 5 ranks. 
II. N, who is between M and Q, is 15th from the bottom. 
 
Q4. Point Y is in which direction with respect to point X? 
I. Point A is east of point B and north of point X. Point Y is north-west of point A. 
II. Point X is east of point B and north of point A. Point Y is north of point A. 
 
Q5. Who among A, B, C, D and E types fastest? 
I. B types faster than E but he is not the fastest among them. 
II. C types faster than D and E. C does not type as fast as A and B.  
 
Directions (6-10): Each of the following questions below consists of a question and two statements 
numbered I and II given below it. You have to decide whether the data provided in the statements 
are sufficient to answer the question. Read both the statements and give answer. 
(a) if the data in statement I alone are sufficient to answer the 
question, while the data in statement II alone are not sufficient in 
answer the question. 
(b) if the data in statement II alone are sufficient to answer the 
question, while the data in statement I alone are not sufficient to 
answer the question. 
(c) if the data in either in statement I alone or in statement II alone 
are sufficient to answer the question. 
(d) if the data in both the statements I and II together are not 
sufficient to answer the question. 
(e) if the data in both the statements I and II are together necessary 
to answer the question. 
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Q6. Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing the center. Who is 
opposite to A? 
I. D sits second to right of F and opposite to E. A is an immediate neighbor of B and C. 
II. G sits third to right of E, who sits second to right of A. 
 
Q7. Who among D, E, F, G, H and J got the highest marks in an exam? 
I. D’s marks was more than G and J and E’s marks was less than that of F. 
II. E scored less than G. J scored more than G and H. No one scored marks between F and G or F and H. 
 
Q8. Among V, W, X, Y and Z, seated in a straight line facing south, who sits at the extreme end of the 
row? 
I. W sits second to right of V. Z is not immediate neighbor of Y. 
II. V sits third to left of Y. W sits on the immediate right of X. 
 
Q9. How is S related to E ? 
I. W is father of X and P is grandson of E, who is wife of W. 
II. G is mother of S and daughter in law of W. 
 
Q10. Among five friends P, Q, R, S and T having different heights, who is the tallest? 
I. R is taller than only one friend. Only one friend is taller than T. P is not shortest. 
II. R is shorter than three persons. Only one person is taller than T. P is neither the tallest nor the shortest 
in the group. Q is the shortest in group. 
 
Directions (11–15): Each of the following below consists of a question and three statements 
numbered I, II and III given below it. You have to decide whether the data provided in the statement 
are sufficient to answer the question. 
 
Q11. How many daughters does P have? 
I. B and D are sisters of M. 
II. M’s father T is husband of P. 
III. Out of the three children whom T has, only one is a boy. 
(a) I and III 
(b) All I, II and III are required to answer the question 
(c) II and III 
(d) Question can’t be answered even with all I, II and III 
(e) I and II 
 
Q12. Who among P, Q, R, S, T and U each having a different height, 
is the tallest? 
I. Q is taller than P, but shorter than T. 
II. Only two of them are shorter than R. 
III. S is taller than only U. 
(a) I and II 
(b) I and III 
(c) II and III 
(d) All I, II and III are required to answer the question 
(e) All I, II and III are not sufficient to answer the question. 
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Q13. Towards which direction is House J from House W? 

I. House R is to the West of House W and to the North of House T. 

II. House Z is to the East of House J and to the South of House T. 

III. House M is to the North-East of House J and North of House Z. 

(a) Only III 

(b) II and III 

(c) All I, II and III are required to answer the question 

(d) Question can’t be answered even with all I, II and III 

(e) None of the above 

 

Q14. On which day starting from Monday did Mayank visit Chennai? 

I. Mayank took leave on Wednesday. 

II. Mayank visited Chennai the day after his mother’s visit to his house. 

III. Mayank‘s mother visited Mayank’s house neither on Monday nor or Thursday. 

(a) II and III 

(b) I and II 

(c) I and III 

(d) All I, II and III are required to answer the question. 

(e) Question can’t be answered even with I, II and III. 

 

Q15. How many male and females are there in the company Y? 

I. In the company’ there are 158 persons. There are more females than males. 

II. Only 1/11 of the females wear formals, while 1/7 of the males wear formals. 

(a) Only I 

(b) Only II 

(c) Either I or II 

(d) Neither I nor II 

(e) Both I and 

 

Directions (16-20): Each of the following questions below consists of a question and two statements 

numbered I and II given below it. You have to decide whether the data provided in the statements 

are sufficient to answer the question. Read both the statements and give answer. 

(a) if the data in statement I alone are sufficient to answer the question, while the data in statement II alone 

are not sufficient in answer the question. 

(b) if the data in statement II alone are sufficient to answer the question, while the data in statement I alone 

are not sufficient to answer the question. 

(c) if the data in either in statement I alone or in statement II alone are sufficient to answer the question. 

(d) if the data in both the statements I and II together are not sufficient to answer the question. 

(e) if the data in both the statements I and II are together necessary to answer the question. 

 

Q16. Eight friends A, B, C, D, E, F, G and H are sitting around a circular table facing the center. Who 

is opposite to A? 

I. D sits second to right of F and opposite to E. A is an immediate neighbor of B and C. 

II. G sits third to right of E, who sits second to right of A. 
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Q17. Who among D, E, F, G, H and J got the highest marks in an 

exam? 

I. D’s marks was more than G and J and E’s marks was less than that 

of F. 

II. E scored less than G. J scored more than G and H. No one scored 

marks between F and G or F and H. 

 

Q18. Among V, W, X, Y and Z, seated in a straight line facing south, 

who sits at the left extreme end of the row? 

I. W sits second to right of V. Z is not immediate neighbor of Y. 

II. V sits third to left of Y. W sits on the immediate right of X. 

 

Q19. How is S related to E ? 

I. W is father of X and P is grandson of E, who is wife of W. 

II. G is mother of S and daughter in law of W. 

 

Q20. Among five friends P, Q, R, S and T having different heights, who is the tallest? 

I. R is taller than only one friend. Only one friend is taller than T. P is not shortest. 

II. R is shorter than three persons. Only one person is taller than T. P is neither the tallest nor the shortest 

in the group. Q is the shortest in group. 

 

 


